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const int maxn = 100005;

int almaxn|,t[maxn<<2]; //a00000Q0t000g

void Pushup(int k /0000000000000 0000000000000 00

O
tik] = max(tik<<l],tlk<<l]|1l]);

/000000 build(1,1,n);

void build(int k,int 1,int r //k00000CO0000QloOoO00OCcOoO00ooooOog
OQro000o0

1L =r /0000000000000 00000000 0

t[k] = a[l];

intm=1+ r-1)>>1); //mO0O000000000D0000ODO[L,m],0000
ooood [m+l,r]

build(k<<1,1,m); /000000000

build(k<<1|1,m+1,r); /000000000

Pushup(k); //00oog
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/000000 updata(p,v,1,n,1);

void updata(int p,int v,int 1,int r,int k){ //p000vO0O00oaglgron
OoOpgkooooo

if(l == r) /0000000000000 0000000vO O
alkl += v,t[k] += v; A/O0000000000000O
else{
intm=1+ ((r-1)>>1); //mO000000000O0000O0OO/[L,m],0000

oo0ood [m+l,r]
if(p <= m) /0000000000000 00
updata(p,v,1l,m,k<<1);
else /0000000000000 0O0O
updata(p,v,m+l,r, k<<1|1);
Pushup(k); /0000000

goog
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/00000ooo query(L,R,1,n,1);
int query(int L,int R,int 1,int r,int k){ //[L,R]I00000O0O0OQLOQro00
O0gkooooo
if(L <=1 & r <= R) /0000000000000 00000000O00000 O
Ooooooood
return t[k];

else{
Pushdown (k) ; AAO0000000000LazyOO*
int res = -INF; /0000000000000 0O000O0000O0nO
int mid = 1 + ((r-1)>>1); //mO0000000000O00O0OO0OO[ft,m],00

0000000 [m+l,r]
if(L <= m) /0000000000000000D0
res = max(res, query(L,R,1,m, k<<l));

1T(R >m) /0 0000000000000 000D0O000DOelse ifQ0O0O
ggddoooooooooon

res = max(res, query(L,R,m+1,r, k<<1]|1));

return res; /00000000000
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void Pushdown(int k /00000lazyOODODOORMQUOODODOODOODODOODOO
ooooo
it(lazylk /000 lazyO O

lazy k<<l] += lazyl/kl; /000000 lazyd

lazy|k<<1|1] += lazylk]; /000000 lazyO

t k<<l] += lazyl/k]; /00000000 lazyd

tik<<l|1] += lazylk!; /00000000 lazyd

lazy[k] = 0; //lazy0 00

/000000 updata(L,R,v,1,n,1);

void updata(int L,int R,int v,int 1,int r,int k //[L,RIOO0O0D0OO0OOQLY
rd00o0opgkooooo
if(L <=1 && r <= R /0000000000000 O0000000
lazy k] += v; /0000
tlk] += v; /O00000vOOOOOOOOO0OOOOO0OO00Owv
else
Pushdown (k) ; /000000lazyDOOOODOO
intm=1+ r-1)>>1);
1T(L <= m /00000000000 000O0000
update(L,R,v,1,m, k<<l);
if(m <R /0000000000 0000O0000
update(L,R,v,m+1,r,k<<1|1);
Pushup(k); /00000
O O

The Trip On Abandoned Railway

#include<cstdio>
#include<cstring>

#define INF 1000000007

using namespace std;

int t,n,m,d,p[100005],T[500005];
long long tag[500005][3];

void push down(int k

taglk<<l][0l+=tagl/k]|[0];
tag k<<l]|1l]+=tag/k]|[1];
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tag| k<< +=tag |k

tag| k<<l1| +=tag |k ;
tag| k<<1| +=taglk ;
tag| k<<1| +=taglk ;
tag k =tag |k =tag |k =0;

void update(int L,int R,int 1,int r,int k,int startup,int quota
1>=L&&r<=R

tagl k ++;
taglk +=startup;
tag |k +=quota;

push down (k) ;
int mid=(1+r)/
L<=mid
update(L,R,1,mid, k<<1,startup,quota);
R>mid
update(L,R,mid+1,r,k<<1|1,startup,quota);

’

int query(int k,int target,int 1,int r

l==r
int ans=(T/k|+tagl/k %INF+( (taglk *1-taglk *d ) %INF ) %INF;
Tlki=taglk =tag/k =tag/k =0;
ans;
push down (k) ;

int mid=(1+r)>>
target<=mid

query (k<<1,target,l,mid);

query (k<<1|1,target,mid+1,r);

’

void build(int now,int 1,int r

1::
Tinow|=p[l];

int mid=(l+r)>>1;

build (now<<1,1,mid);
build (now<<1|1,mid+1,r);

int main
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scanf("%d",&t) ;
t--

memset (T,0,sizeof (T));
memset (tag,0,sizeof(tag));
scanf ("%d%d%sd" ,&n,&m,&d ) ;
int i=1;i<=n;i++
scanf("sd",&p (1] );
build(1,1,n);
int i=1,o0p,X,y;i<=m;i++

scanf("%sd",&op) ;
Op::

scanf ("%sd%sd",&x,&y) ;
update(x,n,1,n,1,Xx,y);

scanf("sd",&x) ;
printf("%sd\n",query(1,x,1,n
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